



Trabajo Original

Valoración nutricional

Renal Inpatient Nutrition Screening Tool (Renal iNUT) – A validity and reliability assesment for Turkey
Herramienta de detección nutricional para pacientes hospitalizados con insuficiencia renal (Renal iNUT): evaluación de la validez y fiabilidad en Turquía

Ayfer Beyaz Coşkun¹, Emine Elibol², Fatih Genç³, Esin Erdoğan⁴

¹Department of Nutrition and Dietetics. Firat University. Elazig, Turkey. ²Department of Nutrition and Dietetics. Yildirim Beyazıt University. Ankara, Turkey. ³Department of Internal Medicine. Elazig Fethi Sekin City Hospital. Elazig, Turkey. ⁴Department of Nephrology. Firat University Hospital. Elazig, Turkey

Keywords:

Malnutrition. Malnutrition Universal Screening Tool. Nephrology. Renal Inpatient Nutrition Screening Tool. Subjective Global Assessment.

Abstract

Background and aims: there is a need for a kidney-specific nutritional screening tool for patients with renal failure. It was planned to perform the validity and reliability of the Renal Inpatient Nutrition Screening Tool screening tool developed for renal patients in Turkey.
Methods: the validity and reliability of the Renal Inpatient Nutrition Screening Tool were investigated by comparing it with the Malnutrition Universal Screening Tool and the Subjective Global Assessment for assessing malnutrition in 153 adult patients newly admitted to the nephrology unit. Nutritional status was assessed using anthropometric measurements and nurse opinion was assessed using a questionnaire.
Results: the Renal Inpatient Nutrition Screening Tool was found to be more sensitive than the Malnutrition Universal Screening Tool in identifying increased malnutrition risks and providing dietary guidance. Cramer V coefficient was 0.238 between the Malnutrition Universal Screening Tool and the Renal Inpatient Nutrition Screening Tool, and 0.137 between the Subjective Global Assessment and the Renal Inpatient Nutrition Screening Tool, indicating the compatibility of the Renal Inpatient Nutrition Screening Tool with the variables in the Malnutrition Universal Screening Tool screening tool. A significant positive moderate correlation was observed between the total number of red boxes in the Renal Inpatient Nutrition Screening Tool and the total score of Malnutrition Universal Screening Tool ($p < 0.05$; $r = 0.404$).
Conclusions: the Renal Inpatient Nutrition Screening Tool is a valid and reliable tool for assessing malnutrition risks in renal patients in Turkey, particularly when used by experienced specialist nurses in nephrology units.

Received: 10/01/2025 • Accepted: 13/03/2025

Ethical approval: The study was conducted in accordance with the Declaration of Helsinki and was approved by the Firat University Non-Interventional Research Ethics Committee with the decision numbered 2022/14-07 to be in compliance with ethical rules. Informed consent was obtained from all subjects involved in the study.

Conflict of interest: The authors declare no conflict of interest.

Artificial intelligence: The authors declare not to have used artificial intelligence (AI) or any AI-assisted technologies in the elaboration of the article.

Beyaz Coşkun A, Elibol E, Genç F, Erdoğan E. Renal Inpatient Nutrition Screening Tool (Renal iNUT) – A validity and reliability assesment for Turkey. Nutr Hosp 2025;42(6):1215-1220

DOI: <http://dx.doi.org/10.20960/nh.05697>

Correspondence:
Ayfer Beyaz Coskun. Department of Nutrition and Dietetics. Firat University. Üniversite Mahallesi Firat Üniversitesi Rektörlük Campus. 23119 Elazig, Turkey, e-mail: abeyaz@firat.edu.tr

Resumen

Antecedentes y objetivos: existe la necesidad de una herramienta de detección nutricional específica en pacientes con insuficiencia renal. Se planeó evaluar la validez y confiabilidad de la herramienta de detección de nutrición en pacientes hospitalizados renales en Turquía.

Métodos: se investigaron la validez y la confiabilidad de la Herramienta de Detección Nutricional en Pacientes Hospitalarios Renales comparándola con la Herramienta de Detección Universal de Malnutrición y la Evaluación Global Subjetiva para evaluar la malnutrición en 153 pacientes adultos recién ingresados en la unidad de nefrología. El estado nutricional se evaluó mediante mediciones antropométricas y la opinión de la enfermera se evaluó mediante un cuestionario.

Resultados: se encontró que la herramienta de detección nutricional para pacientes hospitalizados con enfermedad renal era más sensible que la herramienta de detección universal de desnutrición para identificar mayores riesgos de desnutrición y brindar orientación dietética. El coeficiente V de Cramer fue de 0,238 entre la Herramienta de Detección Universal de Malnutrición y la Herramienta de Detección de Nutrición en Pacientes Hospitalarios Renales, y de 0,137 entre la Evaluación Global Subjetiva y la Herramienta de Detección de Nutrición en Pacientes Hospitalarios Renales, lo que indica la compatibilidad de la Herramienta de Detección de Nutrición en Pacientes Hospitalarios Renales con las variables de la herramienta de detección de Malnutrición Universal. Se observó una correlación moderada positiva significativa entre el número total de casillas rojas en la Herramienta de Detección Nutricional para pacientes hospitalizados con enfermedad renal y la puntuación total de la Herramienta de Detección Universal de Desnutrición ($p < 0,05$; $r = 0,404$).

Conclusiones: la herramienta de detección nutricional para pacientes hospitalizados con insuficiencia renal es una herramienta de detección nutricional válida y confiable cuando la utilizan enfermeras especializadas experimentadas en unidades de nefrología para pacientes diagnosticados de insuficiencia renal en Turquía.

Palabras clave:

Desnutrición. *Malnutrition Universal Screening Tool*. Nefrología. Herramienta de detección nutricional para pacientes hospitalizados con insuficiencia renal. Evaluación global subjetiva.

INTRODUCTION

Renal failure is the irreversible decrease in kidney function. In this case, biochemical homeostasis cannot be maintained, waste products and body fluids begin to accumulate (1). Renal failure is a disease with a prevalence of 9.1 % worldwide, increasing psychosocial problems and reducing quality of life (2,3). Patients with end-stage renal failure often experience a gradual decrease in nutritional status (4). The energy reserves and protein levels in the body are also depleted simultaneously. Later, muscle and fat loss and a decrease in the visceral protein pool occur (5,6). This condition, called protein-energy wasting, is reported to be 11-54 % worldwide in end-stage renal disease patients with stage 3-5 renal disease and 28-54 % in end-stage renal disease requiring dialysis (7).

The clinical use of Subjective Global Assessment (SGA) is increasing in patients with chronic renal failure. It has been confirmed that SGA can be used for nutritional status and protein-energy wasting, especially in dialysis patients (8,9). SGA requires regular and careful training of healthcare professionals to assess (10). However, SGA is not used as the gold standard for nutritional assessment in patients with renal failure (11).

Malnutrition Universal Screening Tool (MUST) is a screening tool used worldwide that includes Body Mass Index (BMI), decreased food intake in acute illness, and weight loss (12). However, the presence of malnutrition cannot be detected with MUST in most patients with chronic renal failure (13). In studies conducted with kidney patients, MUST has been found to have low sensitivity in detecting malnutrition (14,15).

It is important that the nutritional screening application yields the same results when applied by different individuals, identifies the risk of malnutrition with high sensitivity and can predict intervention when necessary (16). Nutrition guidelines recommend the use of combinations such as anthropometry, serum albumin, bioelectrical impedance, food intake and others to minimize errors in nutritional diagnosis (17,18).

In the absence of a validated kidney-specific nutritional screening test for kidney patients and to accurately identify the number of malnourished patients, the Renal Inpatient Nutrition Screening Tool (Renal iNUT) was developed. As in MUST, iNUT patients are divided into high (score 2), moderate (score 1), and low-risk (score 0) malnutrition categories with an appropriate action plan. In addition to body weight, height, BMI, and estimated weight loss found in other screening tools, iNUT includes questions on appetite, supplement use, intake, and kidney-specific weight details (19). This study was planned to establish the validity and reliability of the Renal iNUT screening tool specific to kidney patients in Turkey, as SGA requires clinical experience and MUST has low malnutrition sensitivity.

MATERIALS AND METHODS

STUDY POPULATION

This cross-sectional study was conducted in the Department of Nephrology at Firat University Medical Faculty Hospital in Elazığ, Turkey, with 153 individuals aged 18 and over between January 2023 and June 2024. Using these data, a power analysis was conducted to determine the required sample size for our study, targeting a similar effect size (Cohen's $f \approx 0.25$) at an alpha level of 0.05 and a power of 0.95. All procedures performed in studies involving human participants were in accordance with the ethical standards of the institutional and/or national research committee and with the 1964 Helsinki Declaration and its later amendments or comparable ethical standards.

Patients with acute renal failure and chronic renal failure who were admitted to Firat University Faculty of Medicine, either planned or unplanned, were included in the study within the first 48 hours after admission. Those who were admitted for less than 24 hours, those with communication barriers, those who could not be evaluated by the dietician within the first 48 hours, and

those who could not be given an SGA grade were excluded from the study. Informed consent was obtained from all individual participants included in the study. The study was conducted through face-to-face interviews using a questionnaire. The iNUT form was applied by the nurse as part of the routine admission procedure. iNUT scores were checked and recorded by the dietician.

VALIDITY OF RENAL INUT

A cross-sectional study was designed to evaluate the predictive validity and face validity of Renal iNUT with MUST. Height and weight were measured using the standard MUST protocol (20). The patients' body weights were measured without shoes and wearing light clothing using a Tanita BC 601. Their heights were measured using a wall-type Leicester brand stadiometer. The patients' triceps skinfold thickness was measured with an Onbody brand plastic device and their upper mid-arm circumference was measured with a tape measure and recorded. Handgrip measurements were recorded by selecting the maximum value from the dominant arm or the arm without cannula/fistula, if any, up to three trials (patient-led).

DEMOGRAPHIC INFORMATION AND BIOCHEMISTRY

The patients' application date, gender and age were questioned. Serum albumin, transferrin, fasting blood sugar and C-reactive protein (CRP) values were recorded from routine blood samples, and BUN and creatinine values were recorded from urine samples. Additionally, diastolic and systolic blood pressure values were recorded.

The researchers measured height (cm) and body weight (kg) of the participants. BMI was then calculated using the formula: weight (kg) / height (m)², and classified according to the WHO criteria (21).

CONSTRUCT VALIDITY

According to the method of Detsky and colleagues, SGA was used as the reference standard for the validity of iNUT (22-24). The measurements were made by a nurse and a dietician and their reliability was checked. For SGA, body weight and height values measured with service equipment were recorded. According to the SGA result, the nutritional status of the patients was classified as A-well nourished, B-moderately malnourished and C-severely malnourished (22). The standard MUST form was applied by the research dietician. With the MUST score, the patients were classified as 0-low risk, 1-moderate risk and ≥ 2 -high risk (20).

PREDICTIVE VALIDITY

Patients' body weights were used for prediction validity.

INTER-RATER RELIABILITY

The inter-rater reliability of the iNUT was tested in a subsample of patients who consented to the completion of an additional iNUT by a second person (dietician or floor nurse) who was blinded to the initial iNUT form (14,25).

FACE VALIDITY

All nephrology service nurses were asked to respond to a brief survey using a four-point Likert scale regarding ease of use, time taken to complete the scale, an anonymous return option to reduce bias against negative responses, barriers, nursing education, and appearance and understanding of the iNUT.

STATISTICAL EVALUATION OF DATA

The data obtained in the study were analyzed using the SPSS (Statistical Package for Social Sciences) for Windows 25.0 program. Descriptive statistics were reported as minimum, maximum, mean $\pm$ standard deviation, frequency (n), and percentage (%). The evaluation of measurement tools was considered categorically and the relationship between categorical variables was examined with chi-square analysis. In addition, the concordance coefficient was calculated to determine the compatibility between the measurement tools. Kappa value is considered as Fleis Kappa and Weighted Kappa (a score of 0.01-0.20: slight agreement, 0.21-0.40: fair agreement, 0.41-0.60: moderate agreement, 0.61-0.80: substantial agreement, and 0.81-1.00: almost perfect agreement). The relationship between continuous variables was calculated with Spearman correlation analysis, and the concordances were calculated with the Intraclass Correlation Coefficient (ICC) coefficient (ICC, > 0.75 : agreement, 0.40-0.75: fair to good, < 0.40 : poor agreement). The continuous data used was tested for suitability for normal distribution. Whether the variables were normally distributed or not was examined with kurtosis and skewness values, and it was determined that they were not normally distributed. A 95 % confidence interval (CI) was applied to the correlation coefficients to evaluate the accuracy of the estimate and to assess the statistical significance of the associations between the variables.

RESULTS

The patients who participated in this study were 153 individuals in total, 56.2 % male (86 people) and 43.8 % female (67 people). When the distribution of chronic diseases of the participants was examined, it was observed that 48.3 % had chronic renal failure, 50.3 % had acute renal failure, 8.4 % had diabetes, 9.8 % had hypertension, and 13.0 % had other diseases; 67.3 % of the patients were hospitalized planned and 32.7 % were hospitalized unplanned.

The anthropometric measurements and blood pressure findings of the participants are shown in table I. Mean wet weight was 74.62 ± 14.95 , dry weight was 72.17 ± 15.00 , height was 1.67 ± 0.93 , BMI obtained from wet weight was 26.83 ± 5.69 and BMI obtained from dry weight was 26.61 ± 5.65 . Mean handgrip max was 17.69 ± 8.19 , mid-arm muscle circumference was 28.05 ± 5.44 and triceps skinfold thickness was 22.23 ± 12.06 . Systolic blood pressure was 131.17 ± 16.88 and diastolic blood pressure was 75.23 ± 11.70 .

Participants' blood measurement results are given in table II. The mean BUN value of the participants was found to be 47.86 ± 32.16 , creatinine value was 6.63 ± 10.24 , albumin was 3.46 ± 0.71 , blood glucose was 113.95 ± 4.56 , transferrin was 50.46 ± 24.31 , CRP was 24.97 ± 29.75 and urea was 113.97 ± 70.08 .

The results of the participants' malnutrition status assessment with the MUST, SGA and iNUT measurement tools are given in table III. According to the MUST score result, 58.2 % of the participants have low, 24.2 % moderate and 17.6 % high malnutrition risk. According to the SGA score result, 72.7 % of the participants have low, 23.6 % moderate and 3.6 % high malnutrition risk. According to the iNUT score result, 32.7 % of the participants have low, 24.2 % moderate and 43.1 % high malnutrition risk.

The chi-square test was performed for the relationship between the MUST and iNUT evaluations of the patients and the SGA and iNUT evaluations (Table IV). According to the results, it was determined that there was a significant relationship between the MUST and iNUT evaluations. In other words, it was concluded that the evaluation tools reached similar results for the patients. According to the iNUT result, 62 % of the patients with

Table I. Descriptive statistics regarding anthropometric measurements and blood pressures of the participants

Variables	Min	Max	Mean $\pm$ SD
Wet weight (kg)	28.00	126.00	74.62 ± 14.95
Dry weight (kg)	27.00	124.00	72.17 ± 15.00
BMI obtained from wet weight (kg/m ²)	14.22	43.01	26.83 ± 5.69
BMI obtained from dry weight (kg/m ²)	13.33	42.17	26.61 ± 5.65
Height (m)	1.40	1.93	1.67 ± 0.93
Handgrip max	5.50	40.50	17.69 ± 8.19
MAMC (cm)	10.00	50.00	28.05 ± 5.44
Triceps skinfold thickness	7.00	120.00	22.23 ± 12.06
Systolic BP	90.00	200.00	131.17 ± 16.88
Diastolic BP	60.00	120.00	75.23 ± 11.70

BMI: body mass index; MAMC: mid-arm muscle circumference; BP: blood pressure.

Table II. Descriptive statistics regarding the patients' blood measurement results

Blood measurement	Min	Max	Mean $\pm$ SD
BUN (mg/dL)	4.50	106.70	47.86 ± 32.16
Creatinine (mg/dL)	0.81	74.00	6.63 ± 10.24
Albumin (g/dL)	1.50	5.00	3.46 ± 0.71
Blood glucose (mg/dL)	6.00	243.00	113.95 ± 4.56
Transferrin (mg/dL)	24,00	119,00	50.46 ± 24.31
CRP (mg/L)	0.30	154.00	24.97 ± 29.75
Urea (mg/dL)	32.00	429.00	113.97 ± 70.08

BUN: blood urea nitrogen; CRP: C-reactive protein.

Table III. Evaluation results of MUST, SGA and iNUT measurement tools

	Classification of measurement tools	Number	Percentage
MUST Score	Score 0 = Low risk	89	58.2
	Score 1 = Medium risk	37	24.2
	Score ≥ 2 = High risk	27	17.6
SGA Score	A = Well fed	80	72.7
	B = Mild moderate malnutrition	70	23.6
	C = Severe malnutrition	3	3.6
iNUT Score	Low risk	50	32.7
	At risk	37	24.2
	High risk	66	43.1

low nutritional risk were evaluated as low risk according to the MUST result; 40.5 % of the patients at risk according to the iNUT result were evaluated as medium risk according to the MUST result; 3 % of the patients who needed to see a dietician according to the iNUT result were evaluated as high risk according to the MUST result. In addition, the Cramer V coefficient showing the relationship between the evaluation tools was calculated as 0.238. However, it was determined that there was no significant relationship between the SGA and iNUT evaluations ($p > 0.05$).

The results of the ICC and Spearman's correlation analysis between iNUT and MUST are given in table V. It was observed that there was a statistically significant positive moderate correlation between the total number of iNUT red boxes and the total MUST score ($p < 0.05$; $r = 0.404$). In addition, the absolute agreement coefficient between the two measurement tools with the

Table IV. Relationship between MUST and HD-NUT with SGA and iNUT measurement tools

		iNUT risk status		
		Low nutritional risk	Monitor the patient at risk	Consult a dietitian
		<i>n</i> (%)	<i>n</i> (%)	<i>n</i> (%)
MUST risk status	Low risk	31 (62.0)*	21 (56.8)	28 (42.4)
	Medium risk	19 (38.0)	15 (40.5)*	36 (54.5)
	High risk	0	1 (2.7)	2 (3.0)*
Chi-square test: 17.395, Cramer V = 0.238, <i>p</i> : 0.002*				
SGA risk status	Well fed	39 (78.0)	21 (56.8)	29 (43.9)
	Mild to moderate malnutrition	7 (14.0)	12 (32.4)	18 (27.3)
	Severe malnutrition	4 (8.0)	4 (10.8)	19 (28.8)
Chi-square test: 5.732, Cramer V = 0.137, <i>p</i> : 0.220				

Table V. ICC and Spearman correlation analysis between iNUT and MUST

	95 % CI			
	ICC	Lower limit	Upper limit	<i>r</i>
Single measurements (absolute fit)	0.318	0.168	0.453	0.404
Average measurements (consistency)	0.482	0.287	0.624	

calculated intraclass correlation coefficient was 0.318; consistency was calculated as 0.482.

Feedback was received from 40 nurses and nursing students who participated in the survey. Their experience in nephrology nursing was 0-15 years, with an average of 2.5 years. In all, 92 % of nurses reported that iNUT was 'easy' or 'very easy' to use, and 90 % completed iNUT in ≤ 10 minutes. Overall, 92 % of nurses reported that they felt confident in determining the correct course of action and 92 % reported that it was an appropriate tool for nephrology patients.

DISCUSSION

The application of combined methods is important in the assessment of nutritional status (10). It was observed that 53 % of kidney patients were malnourished (14,26). In this study, it was observed that 41.1 % of patients were at nutritional risk. According to the SGA score, 3.6 % of patients and according to the MUST

score, 17.6 % of patients were at nutritional risk. In this study, the sensitivity of iNUT to detect malnutrition was higher than MUST and SGA, and results were found closer to the literature.

Since MUST is based on BMI and body weight loss, it may not be able to detect malnutrition in many kidney patients (13). In the present study, the mean BMI calculated from clinical estimation of dry weight was found to be 26.61 ± 5.65 kg/m², which is well above the 20 kg/m² limit of iNUT. In case of edema, the real weight may be masked. Therefore, it seems more logical to use iNUT, which evaluates dry weight.

Cramer's V coefficient measures the strength of the relationship between two IxJ dimensional variables, independent of the number of rows and columns (27). In short, closely related nominal variables are relationship measures (28). When the strength of agreement between variables in this study was examined, agreement was observed between the "low risk" group in MUST and the "low nutritional risk" group according to iNUT. Agreement was observed between the "medium risk" group in MUST and the "monitor the patient at risk" group according to iNUT. Agreement was observed between the "high risk" group in MUST and the "consult a dietitian" group according to iNUT. ICC is used to represent the reliability and similarity between measurement tools (29). According to the ICC and Spearman correlation analysis results, a statistically significant, positive and moderate relationship was found between the iNUT red box count and the MUST total score. This shows that iNUT can also capture patients at risk for kidney patients and is similar to other scales.

In order to reduce inter- and intra-observer variability, subjective methods should be explained to practitioners early and carefully (10). One of the strengths of this study is that nurses are considered important stakeholders in nutritional screening. In the current study, iNUT was completed by nurses on the nephrology floor to target a realistic approach. Furthermore, iNUT was completed by nurses after an unsourced training. This suggests that it

is a realistic and achievable application that can be performed by all nephrology nurses in routine screening in terms of sensitivity, specificity and reliability.

In addition, the response rates for the nurse opinion survey were good and a positive evaluation of iNUT was reported. Barriers to the completion of nutritional screening tests by nurses were listed as not being in line with the definition of the profession and inadequacy or lack of confidence (30). The positive responses given by nurses to iNUT may also be related to their experiences with nephrology patients. During the application, iNUT can be used by screening with nurses, who are important stakeholders, within the scope of professional clinical judgment.

The study has some limitations. Firstly, the sample size may not be sufficient to achieve statistical significance, and more generalizable results could be obtained with a larger sample. In addition, only short-term results were analyzed, and long-term effects were not evaluated, which is an important limitation. Lastly, dietary and lifestyle data based on subjective assessments may impact the accuracy of the results.

In conclusion, iNUT is a valid, reliable and practical nutritional screening method in nephrology services. The iNUT screening tool is particularly compatible with MUST. Since dry weight is calculated and malnutrition can be detected through weekly screening, it has advantages over other screening tests in that it is not affected by edema. iNUT is probably acceptable to nurses for routine use in nephrology services. The use of iNUT is necessary for timely nutritional intervention. In future studies, patient opinions can be evaluated, longer-term plans can be made, it can be compared with larger samples and different screening tests, and the effect of nutritional support initiated as a result of the screening test on biochemical parameters and malnutrition can be monitored.

REFERENCES

1. Siti S, Buku Ajar Ilmu Penyakit Dalam. Jakarta: Internal Publishing Pusat Penerbitan Ilmu Penyakit Dalam, 2015. 6th ed. 2014. p. 1134.

2. Kirkeskov L, Carlsen RK, Lund T, Buus NH. Employment of patients with kidney failure treated with dialysis or kidney transplantation—a systematic review and meta-analysis. *BMC Nephrol* 2021;22:1-17. DOI: 10.1186/s12882-021-02552-2

3. Bikbov B, Purcell CA, Levey AS, Smith M, Abdoli A, Abebe M, et al. Global, regional, and national burden of chronic kidney disease, 1990–2017: a systematic analysis for the Global Burden of Disease Study 2017. *The lancet* 2020;395(10225):709-33. DOI: 10.1016/S0140-6736(20)30045-3

4. Carrero JJ, Stenvinkel P, Cuppari L, Ikizler TA, Kalantar-Zadeh K, Kaysen G, et al. Etiology of the protein-energy wasting syndrome in chronic kidney disease: a consensus statement from the International Society of Renal Nutrition and Metabolism (ISRNM). *J Ren Nutr* 2013;23(2):77-90. DOI: 10.1053/j.jrn.2013.01.001

5. Lodebo BT, Shah A, Kopple JD. Is it important to prevent and treat protein-energy wasting in chronic kidney disease and chronic dialysis patients? *J Ren Nutr* 2018;28(6):369-79. DOI: 10.1053/j.jrn.2018.04.002

6. Kovesdy CP, Kopple JD, Kalantar-Zadeh K. Management of protein-energy wasting in non-dialysis-dependent chronic kidney disease: reconciling low protein intake with nutritional therapy. *The Am J Clin Nutr* 2013;97(6):1163-77. DOI: 10.3945/ajcn.112.036418

7. Carrero JJ, Thomas F, Nagy K, Arogundade F, Avesani CM, Chan M, et al. Global prevalence of protein-energy wasting in kidney disease: a meta-analysis of contemporary observational studies from the international society of renal nutrition and metabolism. *J Ren Nutr* 2018;28(6):380-92. DOI: 10.1053/j.jrn.2018.08.006

8. Sum SS-M, Marcus AF, Blair D, Olejnik LA, Cao J, Parrott JS, et al. Comparison of subjective global assessment and protein energy wasting score to nutrition evaluations conducted by registered dietitian nutritionists in identifying protein energy wasting risk in maintenance hemodialysis patients. *J Ren Nutr* 2017;27(5):325-32. DOI: 10.1053/j.jrn.2017.04.006

9. Paudel K, Visser A, Burke S, Samad N, Fan SL. Can bioimpedance measurements of lean and fat tissue mass replace subjective global assessments in peritoneal dialysis patients? *J Ren Nutr* 2015;25(6):480-7. DOI: 10.1053/j.jrn.2015.05.003

10. Bigogno FG, Fetter RL, Avesani CM. Applicability of subjective global assessment and malnutrition inflammation score in the assessment of nutritional status on chronic kidney disease. *J Bras Nefrol* 2014;36:236-40. DOI: 10.5935/0101-2800.20140034

11. Steiber AL, Kalantar-Zadeh K, Secker D, McCarthy M, Sehgal A, McCann L. Subjective Global Assessment in chronic kidney disease: a review. *J Ren Nutr* 2004;14(4):191-200.

12. Stratton RJ, Hackston A, Longmore D, Dixon R, Price S, Stroud M, et al. Malnutrition in hospital outpatients and inpatients: prevalence, concurrent validity and ease of use of the 'malnutrition universal screening tool' ('MUST') for adults. *Br J Nutr* 2004;92(5):799-808. DOI: 10.1079/bjn20041258

13. Havinga-Kosters CM, van Den Berg MG, van Hamersvelt HW. Sensitive and practical screening instrument for malnutrition in patients with chronic kidney disease. *Nutrition* 2020;72:110643. DOI: 10.1016/j.nut.2019.110643

14. Lawson CS, Campbell KL, Dimakopoulos I, Dockrell M. Assessing the validity and reliability of the MUST and MST nutrition screening tools in renal inpatients. *J Ren Nutr* 2012;22(5):499-506. DOI: 10.1053/j.jrn.2011.08.005

15. Kosters M, Julicher I, Duvan A, Yucesan E, Zweers H, Berg AVD, et al. SUN-P129: Diagnostic Accuracy of PGSGA and Must of Patients with Chronic Kidney Diseases. A Pilot. *Clin Nutr* 2016;1(35):S91-2. DOI: 10.1016/S0261-5614(16)30472-1

16. Brown RO, Compher C. American Society for Parenteral and Enteral Nutrition Board of Directors. ASPEN clinical guidelines: nutrition support in adult acute and chronic renal failure. *JPEN J Parenter Enteral Nutr* 2010;34(4):366-77. DOI: 10.1177/0148607110374577

17. Kistler BM, Moore LW, Benner D, Biruete A, Boaz M, Brunori G, et al. The International Society of Renal Nutrition and Metabolism Commentary on the National Kidney Foundation and Academy of Nutrition and Dietetics KDOQI clinical practice guideline for nutrition in chronic kidney disease. *J Ren Nutr* 2021;31(2):116-20. DOI: 10.1053/j.jrn.2020.05.002

18. Fouque D, Vennegor M, Wee P ter, Wanner C, Basci A, Canaud B, et al. EBPg guideline on nutrition. *Nephrol Dial Transplant* 2007;22(suppl 2):ii45-ii87. DOI: 10.1093/ndt/gfm020

19. Jackson HS, MacLaughlin HL, Vidal-Diez A, Banerjee D. A new renal inpatient nutrition screening tool (Renal iNUT): a multicenter validation study. *Clin Nutr* 2019;38(5):2297-303. DOI: 10.1016/j.clnu.2018.10.002

20. Scott A. Screening for malnutrition in the community: the MUST tool. *Br J Community Nurs* 2008;13(9):406-12. DOI: 10.12968/bjcn.2008.13.9.30910

21. Gibson, R.S. Principles of nutritional assessment. (Second edition). New York: Oxford University Press, 1990; 40-1 pp.

22. Detsky AS, McLaughlin JR, Baker JP, Johnston N, Whittaker S, Mendelson RA, et al. What is subjective global assessment of nutritional status? *J Parenter Enteral Nutr* 1987;11(1):8-13. DOI: 10.1177/014860718701100108

23. Campbell KL, Susan ASH, Bauer J, Davies PSW. Critical review of nutrition assessment tools to measure malnutrition in chronic kidney disease. *Nutrition & Dietetics* 2007;64(1):23-30. DOI: 10.1111/j.1747-0080.2007.00116.x

24. Ferguson M, Bauer SC, Banks M. Development of a valid and reliable malnutrition screening tool for adult acute hospital patients. *Nutrition* 1999;15(6):458-64. DOI: 10.1016/s0899-9007(99)00084-2

25. Jones JM. Validity of nutritional screening and assessment tools. *Nutrition* 2004;20(3):312-7. DOI: 10.1016/j.nut.2003.11.005

26. Xia YA, Healy A, Kruger R. Developing and validating a renal nutrition screening tool to effectively identify undernutrition risk among renal inpatients. *J Ren Nutr* 2016;26(5):299-307. DOI: 10.1053/j.jrn.2016.04.003

27. Bryman A, Cramer D. Quantitative data analysis with SPSS 12 and 13: A guide for social scientists. Routledge; 2008.

28. Bergsma W. A bias-correction for Cramér's V and Tschuprow's T. *Journal of the Korean Statistical Society* 2013;42(3):323-8. DOI: 10.1016/j.jkss.2012.10.002

29. Shieh G. Choosing the best index for the average score intraclass correlation coefficient. *Behav Res Methods* 2016;48(3):994-1003. DOI: 10.3758/s13428-015-0623-y

30. Green S, James E. Barriers and facilitators to undertaking nutritional screening of patients: a systematic review. *J Hum Nutr Diet* 2013;26(3):211-21. DOI: 10.1111/jhn.12011